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public static void main(String args[1){

int a;
System.out.printin(”Please input number:”);

a=readNumber();
if(a>0)System.oyt.printin(“Greater than 0.”);
} )
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class MySample(

int [ZE8A]; IVFRBISER.
public static void main public MySample(int[] x){ VL TIFUH § MyMain& L5
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class Test|
public static void main(String args[){
int a;
System.out.printin(“Please input number:");
=readNumber();
if(a>0)System.olgrintin(“Greater than 0.");
}
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class MySample{ F—————(1

int a; |

public. int[] x){ +

public void MyMain{
/Ainta*/

thisa=x[0}; ————— @
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System.out printin(“Please input number:");
Vel i */ k

if(a>0)System.out printin(“Greater than 0.");
}
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if(a>0)

_System.out.printn(“Greater than 0.”);
| if(a==0){

System.out.printin(“Just 0.”);
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class Test{ lass MySample{
public static void main(String args[){ F» int a;
int a; public Pyl

System.out printin(“Please input number:");

0:
if(20)System.out printin(“ Greater than 0.");
1

’—ﬁ this.a=x[0];
}

> public void MyMain{
/% int a; %/

t it.printin("Please input number:");
/* a=readNumber(); %/
if(a>0)System.out printin(“ Greater than 0.");
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public static int readNumber(}{
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class Test|
public static void main(String args[)l
int year;
System.out printin("Please input year:");
vear=readNumber();
if(year<0) year=-year;
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public static int readNumber(){
byte b[] = new byte[100];
System.in.read(b);
return Integer.parselnt((new String(b)).trim0);
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